EARAROBEEIERT — 2 N— IBISH —F

20155118158 (B) 7EKR2H

Gl #20 b TEHERES TIBATEB 3R —) [kl 8 [mamml — |5 o) 0o TR
[AE4£] 1% :19,000 ™ ~ 23#%:38,000” ~ 33%&:19,000 ™ . 43&:14,000 H 53 :5,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. 4 3 | HEEE— 1:41.1 1-1-1-1 |39.2| — 3 397 | /NEEEEAE (EEFRE)
AR E =T 54.0 - (ay | dmA—E8
L2917 b F—F7—FK—K B:AStSIILY plar 4
" _ T2 _ = Ok
2 6l a1l A— v # o4 suélflsﬂfk 1.(492).5 9-9-7-5 |39.2 2 | 491 @%_ (KiR)
LNAT ==L B:443-<U—> (#5) fillPN T e
. o= 8 =t > mlRE . —8-8— - NFEEAE (B
3l8lg| RRXATZT R e 1'(412)'7 oes B4 ! /2(3),()) et
XD THANAN BRZIHTLA R [iiEte]
— s 3 | BEREE 1:42.8 3-3-3-4 |40.1| — 1 484 | BF=— (KR)
al7l 7| 7E-LZFLL 54.0 (172 Gy |EAHER
L:€r/0704 BieHLTE-L () HAa-KRL—Ya>AET7
— +: KIFIE 143, ~5-4~ . — FEF= (BE)
5 3| TNRIAFFRID 51 2% (11 413/20) 5-5-4-2 | 40.2 7 (4_5;7) T
RNV SAY BT RY14Y5y 7 T7=—ElTr—L
s o > 8 | WAKE 1:43.1 7-7-6-7 [39.9| — 6 446 | HREREZ (BERE)
Y« MERPEYAYE ~ % s6.0 (3/4) (g |BHEX
L:T7Ihty b B:JU—ENXE— HEWE
S AT o 4t 3 | FNIE 1:43.2 6-6-5-5 |40.3| — 8 497 | =HE®E (KR)
705l 5| P32 TFTTAY 56.0 (1/2) by |
R:7L>FFE27s BIT7TFTa— k4
o BAJ ER LR : 00— — WEE— (KR)
8 ol Vs UNyE= o4 i 1.(443).8 2-2-2-3 | 41.5 9 <4+745) Egi’ﬁ i
L:70%tx B:Ya)-> AT T — L
- # o6 | BEEAE 1:44.3 4-4-9-9 | 4.1 | — 5 446 | WEILER (ERF)
9/8]|8 I7t7> 56.0; 3) (-2) gﬁ%_ff
RHYRY4FTFZ Bevva 75 Ris
® I—F—@EBIERL
13—7F— 1,2,7,8,3,5,4,9,6
Ao=5"= 1,2,7,8,3,5,4,9,6
3T—7— 1,2,7,3,5,4,6,9,8
43—+ — 1,3,2,7,(5,6),4,9,8
[ RN
B 1 750H 74K 1-6 200 & 1-6 1,230 &R 1-6-9 2,340
# B 1 200M 1-9 810 B E 1-6 1,160M EE 1-6-9 17,190
6 120 6-9 490M B H 1-6 3,400M
9 270M

ABICOVWTRDTEEERROODE. TR LIV,




